TR TERFIOSHREBEETIE (B2TKX)

HE—FE =
e | Geve | Cemd | Qe | Goes |#e]messueaee
ERHR |ERETT [{EEIT HE A m3d | 10 [ 786.6 790
BIWET |ELEFEREM m3 | 10 907.0 910
BkBEmIT |EELT  |KIEY m3 | 10 245.6 250
HEL m3 | 10 112.7 110
RAET & () EREIE[means cox00 | 0 1 554.3 554
HURREE (300x300) | m 1 25.9 26
EEMEE N
kbt - AT |7 UEAAMETZR M | eo00/s00m. heeo0) | EEAR| T 32.0 32
BEEET 7 Vb T | 65 5 + B2 A H=300 m [ 1 108.2 | 108
H=600 m 1 61.9 62
H=900 m 1 7.0 i
WSS T [ piug LT | SRR BT Asggz t=15cm| m | 10 116. 9 120
R AstgzE t=15cm| m2 | 1 278.6 279
IEHEALIE T |sesmenis fkE e = [ 1 1 1
AsaE AL IE m3 | 1 13.9 14
Sk SEdET skiuuET s |74 )5 B BEH t=100mm| m2 | 10 | 1720.6 [ 1720
PRAE RC-40 t=100mm{ m2 | 10 | 1640.5 [ 1640
RC-40 t=200mm| m2 1 80. 1 80
EAS #EKiEAs t=40mm|[ m2 | 10 | 1640.5 [ 1640
BKtEAs t=50mm| m2 | 1 80. 1 80
o s | PRAR RCG-40 t=250mm| m2 1 44.0 44
RG-40 t=300mm| m2 1 84.5 85
H= mammgAs t=som| m2 | 1 44.0 44
BEmEss t=100m | m2 | 1 84.5 85
E3E BEFHEs t=50m| m2 | 1 128.5 129
o T e | ] Sk PR A T RC-40 t=150mm| m2 | 1 183. 8 184
RM-40 t=150mm| m2 1 183.8 184




o | Gevey | Wevey | fees | Gees |[#osisstmEmens)
TEEEIE m2 | 10 [ 2797.9 | 2800
HfE mEemuiEss tsom| m2 [ 10 | 2737.3 | 2740
X2 mEmpEAs t=50m| m2 | 1 60. 6 61
B#BAaL B#BAaL SEERRT 0y) AR m 1 514.6 515
AZ! fBHER m 1 12.0 12
AR dm R ER m 1 3.6 4
B! m 1 57.0 57
CEY m 1 22.8 23
HhSEIESR7 ny) |AR m 1 537.8 538
B! m 1 69.0 69
REFRT [REHFT [SEXXER |ER. 5. 15m m | 1 67.8 68
75, 8. 45em| m [ 1 1.5 2
ERMBERT | ERMAEYT B IKER NEIgE mERS| B | 1 60. 0 60
TEFLERE |EFLERE |EFLERE | R BFEELHER x| 1 1 1
mprsancrs | HBRERE |RITEEE T HEEFHRE R |1 1 1




RERER

I & iE Al M 5l O B #E g &=
ERTT EHEIT bzl -7 Uhyh m3 786. 6
EBINET T B m3 907.0
Bk#EBEWMT (1T FRIE Y INGRAE m3 245.6
HREL INGRAE m3 112.7
fAlET E () REAGE |HEHEE (300x300) | m 554.3
RS E (300 x 300) m 25.9
R4t I
£kt - Wik-VI |7 LvaMEE M (B300/300F., H=600) |&iFk 32.0
PEEET 7 VAAMERT (BB H=300 m 108. 2
H=600 m 61.9
H=900 m 7.0
BEYEBET |[BEYBELT (SHERTER AsEhzE t=15cm m 116.9
AR AsEhzE t=15cm m2 278.6
hRNEE, RELDIGITRA
EfROIET SRR UIE A KLIE| [BEAR(TEREET] | m3 0.15
S R U B B AKGE ik = 1.0
AsaRE R LR m3 13.9
HET FEKMESHET |74 BAF  t=100mm m2 | 1,720.6
(FHEER)
PRA% RC-40 t=100mm m2 ,640.5
RC-40 t=200mm m2 80. 1
== HkMEAs  t=40mm m2 ,640.5
EKMEAs  t=50mm m2 80. 1
TAI7VMERHEE T v g RC-40 t=250mm m2 44.0
(FHEER)
RC-40 t=300mm m2 84.5
HfE BaEEREAs  t=50mm | m2 44.0
BAEEEEAs  t=100mm | m2 84.5 YAE]
=RE BAEBEEAs t=50mm | m2 128.5
TAITVIMEREE T FIEEIREE T RC-40 t=150mm m2 183.8
(EEER)
RM-40 t=150mm m2 183. 8
AREEIE m2 ,197.9
HE BEEREAs  t=50mm | m2 ,737.3
=RE BAEBREEAs t=50mm | m2 60. 6
BAI BRI SHEERI 09 A% (180/240 x 300 x 600) | m 514.6
AR FRFHER m 12.0




I i& 7l H_ Al R Hi| # 8 i

BET BET SEBEERT 1) AR KA m 3.6
BE! (223/240 x 70/100x 600) [ m 57.0

C#Y(226/240x70%x600) [ m 22.8

SRR ny) AZY (150 x 150 x 600) m 537.8

BEY (150 x 150 x 600) m 69.0

XE#RT XE#RT AR XER Ei#R, 5. W=15cm m 67.8
7775, B, W=45cm m 1.5

ERAREERT ERAEYM T  [EREE INEUSE T R ST & 60.0
HERER Rt EEE TEEFHRE fiY 0 LAHRER R 1.0
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1. #EEl [E8]

(;tEE)

Vi= 786.6

786. 6 m3




g

2/2
]
g3y | ETET

T & |
a2 |[EEET

i3
| IO

1 BREIEEHREN

(HEA) (RHEY) (BRL)

V= 786.6 + 245.6 — 112.7 + 0.9

907.0 m3




#EEl ()

A

g5 g

Al

m

T EEER

Vi

IH

7 mow | DomE i X i
£ = A& |#H % & | T FH K

NO.43  +5.98 (2.4)
14. 020 2. 40 33.

NO. 44 2.4
20. 000 2.20 44.

NO. 45 2.0
20. 000 2.00 40.

NO. 46 2.0
3.690 2.00 1.

NO.46  +3.69 (2.0)
16. 310 2.25 36.

NO. 47 2.5
20. 000 2.25 45.

NO. 48 2.0
20. 000 2.00 40.

NO. 49 2.0
20. 000 2.45 49.

NO. 50 2.9
20. 000 2.45 49.

NO. 51 2.0
1.200 2.00 14.

NO.51  +7.200 (2.0)
12. 800 2. 30 29.

NO. 52 2.6
5. 000 2. 65 13.

NO.52  +5.00 2.7 1P2

15. 000 3.05 45.

NO. 53 3.4
20. 000 3.95 19.

NO. 54 4.5
N E 214. 020 526.




#EEl ()

g5 g

;
A & P BEEE | ¥ BEEE | % & X " =
: B & |k & | E 5 %
NO. 54 4.5
20..000 4.35 87.0
NO. 55 4.2
20..000 3.10 62.0
NO. 56 2.0
20..000 2.00 40.0
NO. 57 2.0
20. 000 2.00 40.0
NO. 58 2.0
15. 500 2.00 31.0
NO.58 _ +15.50 (2.0)
N E 95. 500 260.0
& & 309. 52 786. 6




i3
| HAID
i

1/3
T =’ " A
Gy |HKEST Gy |EEET
1 FREY (8]
GHED)
V= 245.6 = 245.6m3
2. BRL [FAT]
HED)
V= 112.7 = 112.7m3




H =2 B £ 2/3
T @ " TR
gy [HKEEST BT
| & () EREHE [EPEGIEE (300x300) 1 HKMESER S
@)
L= b554.3 554. 3 m

2. & () BXAE [MEMEEE (300x300) ]

25.9m




# = @A F 3/3
I & v Bl e
(A 12) BEKEEYT (A" 13) &kt - Wk T
1. 77 VivAMEEN [#EHEER (B300/300/F., H=600) ]
A=)
N= 32.0 32.0 &FR




RiIEY (L) B g = 12
AR g BEER | * EPER I 5 K n
5 =5 & | ¥ % K s
NO.43  +5.98 0.7)
14. 020 0.70 9.8
NO. 44 0.7
20. 000 0.75 15.0
NO. 45 0.8
20. 000 0. 80 16.0
NO. 46 0.8
3.690 0. 80 3.0
NO.46  +3.69 (0.8)
16.310 0. 80 13.0
NO. 47 0.8
20. 000 0.85 17.0
NO. 48 0.9
20. 000 0.85 17.0
NO. 49 0.8
20. 000 0.75 15.0
NO. 50 0.7
20. 000 0. 80 16.0
NO. 51 0.9
7. 200 0.90 6.5
NO.51  +7.200 (0.9)
12. 800 0. 85 10.9
NO. 52 0.8
5. 000 0. 80 4.0
NO.52  +5.00 0.8 IP2
15. 000 0. 80 12.0
NO. 53 0.8
20. 000 0.75 15.0
NO. 54 0.7
/hoF 214. 020 170. 2




KRiEY (£8)

g5 g

;
A & P BEEE | ¥ BEEE | % & X " =
: B & |k & | E 5 %
NO. 54 0.7
20..000 0.75 15.0
NO. 55 0.8
20..000 0.80 16.0
NO. 56 0.8
20..000 0.80 16.0
NO. 57 0.8
20. 000 0.80 16.0
NO. 58 0.8
15. 500 0.80 12.4
NO.58 _ +15.50 (0.8)
VN 95. 500 15.4
& & 309. 52 245.6




BREL (AL B =1 - 12
A R o BEE® | T BBER SN m
& 5 R | % K& | T FH %
NO.43  +5.98 (0.3)
14.020 0.30 4.2
NO. 44 0.3
20. 000 0.30 6.0
NO. 45 0.3
20. 000 0.30 6.0
NO. 46 0.3
3.690 0.30 1.1
NO.46  +3.69 (0.3)
16.310 0.55 9.0
NO. 47 0.8
20. 000 0. 65 13.0
NO. 48 0.5
20. 000 0. 40 8.0
NO. 49 0.3
20. 000 0.35 7.0
NO. 50 0.4
20. 000 0. 45 9.0
NO. 51 0.5
7.200 0.50 3.6
NO.51  +7.200 (0.5)
12. 800 0. 40 5.1
NO. 52 0.3
5. 000 0.30 1.5
NO.52  +5.00 0.3 IP2
15. 000 0.30 4.5
NO. 53 0.3
20. 000 0.30 6.0
NO. 54 0.3
/hoF 214. 020 84.0




BRL GRAL)

g5 g

;
A & P BEEE | ¥ BEEE | % & X " =
: B & |k & | E 5 %
NO. 54 0.3
20..000 0.30 6.0
NO. 55 0.3
20..000 0.30 6.0
NO. 56 0.3
20..000 0.30 6.0
NO. 57 0.3
20. 000 0.30 6.0
NO. 58 0.3
15. 500 0.30 4.7
NO.58 _ +15.50 (0.3)
N E 95. 500 28. 17
& & 309. 52 112.7




HIEMEETE (300 x 300) w8 #HF 1/1
X M &t " = #H Bl =
= (7246 17 & #iH=600)
No.43 +4.09 | No.52 +7.55 [L 183. 4 1.00 x 10 173.4'm
(T4 B BIH=600)
No.52 +18.68| No.58 +13.66[L=114.9 1.00 x 6 108.9m
A (4t 7 55 EH=600)
No.43 +7.88 | No.51 +7.66 [L 159.7 1.00 X 9 150. 7 m
(T B BIH=600)
No.52 +2.53 [ No.58 +10.86|L= 128.3 1.00 x 7 121.3m
& i 554.3 m




w B H O OB
HEMETE (300 % 300) 10. Om U
400
205 195
138 174010/"1’9%\\
50 3o/ 50/ |
WK “ R
H"/ﬁ (300 x h x 4m)
8 . E@ %\N ok &
= BEYARE
(40~ Omm) FEUE H1 H2 h =
50 400 50 @ 300 x300 503 440 300
500 300 x 400 603 540 400
# g ARtk B =1 =® # =
RC-40
HEER £=100mm A= 0.50 x 10.0 = 5.0 m2
HEMMNE 300x300x2000 |[L= (N=10.0=+2.0=5.0{@) = 10.0m




* =8 =f =
HETREE (300 x 300) =& # 8 1/1
X [ &t L = B EE =
py
No.52 +7.55 | No.52 +18.68|L= 11.1 =] 11.1m
A
No.51 +7.66 [ No.52 +2.53 |L= 14.8 =| 14.8m
& H =| 25.9m




M B O OB
*ﬁﬂ’ﬁﬂ%éﬁ (300 x 300) 10.0m4 v
420
60 300 60
— HRMRREE
~| (300 x 300 x 2000)
g § ELZILA:3)
w arvou—+%
P E ‘ / (o ck=18N/mm2)
” % % BAEYARE
(40~ 0mm)
50 | 420 50
520
# g ARtk B = M =
RC-40
HEER £=150mm = 0.52 x 10.0 5.2 m2
avoy—+F ock=18N/mm2 [V= 0.52 x 0.10 x 0.52 m3
e = 0.10 x 2 X 2.0 m2
K yhAREEE 300 x300x 2000 [L= (N=10.0+2. 0=>51d) 10.0m




* =8 =f =
BERHEMREH (B300/300F. H=600) 2 E A B 11
X it =1 = B ElE =

p.]
No.43 +4.09 | No.52 +7.55 [N=__ 10 =| 10 mm
No.52 +18.68| No.58 +13.66|N=__ 6 =|  6@mm
A
No.43 +7.88 | No.51 +7.66 [N= 9 =|  9mm
No.52 +2.53 | No.58 +10.86|N=__ 7 =|  T@m

I© g =

& 5 = 32 &




BB Gt H OB
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443 an — & A A
HEMETE M (B300/300F, H=600) 10. 0OBiAT & Y
B300/300/ = BBk
404 S
- N 192 212_|| TL—FY
“w - 9 175 S‘g (175 x 44 x 980)
400 ‘ s | 2.0% \
f — RN S
50 W 50| of 9] o / 300R G
= S| o
T © -
=L
= 6 404 6
RS
- B300/300F FEE
3| 255 —
g r e \ 400 192
e’ o avyu—+
T 2 i (o ck=18N/mm2) %0 300 50
- 2o ‘
- BEYARE
(40~ Omm) o
80 240 80 - = =
50 400 50
500
gl g
T+ & R
U H h W B - = — =
® 1=600 600 300 -
H=700 700 400
80 240 80 (175 % 44 % 980)
65 270 65

AR T i

felo

RC-40
t=100mm

A= 0.50 x 1.00 x 10.0

5.0 m2

avoy—~F

o ck=18N/mm2

V=_(0.255+0.240)/2x0.150x0.78x 10

0.29 m3

B2 Hithn = A

B300/300/ H=600

10.0 &

yU-th &

175 %44 x 980

10.0 #4
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I & - | . -
(A 12) PERET (A" 13) 7" Vv AMERE T

1. 7" LvAbgERE

[f5 % £ B4 H=300]
E)
N=_108.2 = 108.2m
2. 7 VivabBERE ([ 5 L B4 H=600]
E)
L= 61.9 = 61.9m
3. 7 LivabHERE [H§5 T ERHR  H=900]
BE)
L= 1.0 = 7.0m




EiZ LB (H=300) 1/1

X & 1 E2 O OERE =

=l

No.46 +8.10 [ No.46 +12.10(L= 4.0 =[ 4.0m
No.49 +11.50[ No.50 +10.00fL= 18.5 =[ 18.5m
afl

No.43 +10.70f No.43 +17.70(L= 7.0 =[ 7.0m
No.48 +1.79 [ No.49 +1.58 [L= 19.7 =[19.7m
No.50 +7.20 [ No.50 +11.20f(L= 4.0 =[ 40m
No.51 +19.80| No.54 +14.80|L= 55.0 =| 55.0m

op
I

B =1108.2 m




BB OH E B
8 % + B8 #ft (h=300) 10.0m& b
100
_50’
7
324 U — R
(300 X910 % 60)
324 U — R
(300 %910 x 60)
N %
&%
UL H hi h2 W OE
= ORI ® h=300 600 | 300 | 300
h=600 1200 | 600 600
h=900 1800 | 900 900
% L TR ~Ti% H g =X 4 =
H=600
HZ 100 x 100 N= 10.0 = 1.0 = 10.0 &
19Y- MR 300x910x60 [N= 10.0 <= 1.0 X 1 = 10.0 #%




fEiZ Lt B (H=600) 1/1

X & 1 E2 O OERE =
=l
No.46 +12.10f No.48 +10.00fL= 37.9 =[ 37.9m
afl
No.46 +12.00{ No.47 L= 8.0 =[ 8.0m
No.50 +11.20f No.51 +7.20 [L= 16.0 =[ 16.0m

op
I

B =| 61.9m




M 2 i E £
5 5 1 B4 (h=600) 10.0m% Y
100
_52
74
a9 ) — iR
(300%x910 % 60)
ary ) — iR
(300%x910 % 60)
= Y.
%k R
IEU% H hi h2 i =
= <1gg2><ﬁ?oo> h=300 600 300 300
@® h=600 1200 600 600
h=900 1800 900 900
4 e AR~ 3% H =1 = # =
H=1200
H#Z 8/ 100 x 100 N= 100 = 1.0 10.0 &
19 - Ml iR 300x910x60 [N= 10.0 = 1.0 x 2 20.0 &




* = §i i
#5 L2 (H=900) H 2 F 2

1/1
=3 &l 5 =} % 0 o =

Gl

al

No.46 +5.00 [ No.46 +12.00(L= 7.0 =[ 7.0m

op

= 7.0m




¥ 2 % H OB
5% 1 B (h=900) 10.0m%g v
100
_52
7|
a2 5 ) — MR
(300 x 910 x 60)
av5 ) — MR
(300 x 910 x 60)
- %
SFOE %X
FEU4 H ht h2 % E
= (122@?00) h=300 600 300 300
h=600 1200 600 600
@® h=900 1800 900 900
2 o1 FAR~TiE B g = 4 =
H=1800
HE 80 100 x 100 N= 10.0 = 1.0 = 10.0 X
U9~ MR 300x910x60 |IN= 10.0 = 1.0 X 3 = 30.0 #
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I f& v E Al v
(A 12) BEYMRET (A" 13) BEMRIELT
1. EREERREIER  [7A770hERZERR, t =15cm]
A=)
L= 116.9 = 116.9m

2. FHEHRENEE (72770 bEEEERR, t =15cm]

278. 6 m2
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I i& w oA |,
n \ g
gy [EEMBET g |ERAET
1. BN IE  [HKLE (FRAI7VMIETEK) ]
(LN &) (t=5cm: ;& 7K A032m3/100m)
U V= 116.9 x 0.13 = 100 0.15 m3
(HE)  (REE/E)
B S 3 N= 0.15 1.1 = 20 = 0.1 1.04
2. BiRIE  [AsiR

V= 278.6 x 0.05

13.9 m3




3
il
I

SHEERR OB [7A770MEEZERR. t=15cm] 11
X G it g = 5 =| -3
]
No.52 +11.20( No.52 +15.20|L 4.0 4.0m
A4l
No.51 +8.11 | No.56 +5.81 |L 97.9 97.9m
AT52ER 4 ER
No.58 +15.57| No.58 +18.16]|L 15.0 15.0m
& 5 116.9m




* =8 =f =
SHEMRERRE [TA770MEHEERR. t=15cm] 2 EHE 11
X &t g5 =X O OEW E
No. 52 +11.20f No.52 +15.20|A= 240.8 =1 240. 8 m2 t=bcm
No. 58 +15.57[ No.58 +18.16|A= 37.8 =| 37.8 m2 "
N g
a & 278.6 m2




= R £ 1/3
T B | | bk o .
(l/’\o }[,2) nﬁa&zl (I/’\é Jl'3) JE7K |$nﬁ2€l (-’i:JE B)

1. 24V5-FE [BER.

t=100mm] &8 —A%ER - HAOER (1)
] A1l HAOER) HAOEQ)
(FtE=) (BtE=E) (EfERETR) (GRAE) (GRE)
A= 910.9 4+ 881.1 + 57.1 — 440 — 845 = 1,720.6m2
2. pRHE (HEER)  [RC-40. t=100mm] HE—HEE
HAQL (1)
(74159-128) (FAE)
A= 1720.6 — 80.1 = 1,640.5m2
3. BRfE (HEE) [RC-40. t=200mm] HADOEE (1)
HARAER (1)
(GAE)
A= 80.1 = 80.1 m2
4. KRB [BEKEAs, t=40mm] HE—HEE
HiE—HRER
(BR A=)
A 1640.5 1,640.5 m2
5. KB [FEKMAs, t=50mm] HADOER ()
HARER (1)
(GAE)
A 80.1 = 80.1 m2




= R £ 2/3
T B | Al SEEET (shimE
(l/’\o }[,2) nﬁa&zl (I/’\é Jl'3) 7x77,l’|“nﬁﬁl (’/ JEFIB)

1. BREE (SEHE)

[RC-40, t=250mm] H A OEB(2)
HADH (2)
HE)

A= 44.0

= 44.0 m2
2. EREE (EER)

[RC-40, t=300mm] HAFA#R Q)
HAOH Q)
()

A= 845

= 84.5 m2
3. EE (BEHRD)

(AR EAs, t=50mm, 7" 54A1-+] HAOE(2)
HADE Q)
(B

A= 44.0

= 44.0 m2
4. EE ERD)

(FEAEMAEAs, t=100mm, 7" 5{A3-b fvha-+] HABQER Q)
HABLEQ)
(=)

A 84.5

84.5 m2

5. RE (BERR)

[FAZENEAs, t=50mm, §v93-t] HAOHER(2) - (3)

HAOER(2) HA O (3)

GAZ) GAZ)

A

44.0 + 84.5

128.5 m2




B 8 £ 3/3
I iE - | o .
N Al S Al -é_t
(A 12) HET (A" 13) TAI7VMNEREE T (EEEER)
1. FEERET [RC-40, t=150mm]

GEF 3

A=)
A= 183.8 = 183.8m2
2. REERRAET [RM-40, t=150mm]

GEF 3

A=)
A= 183.8 = 183.8m2
3. AREEIFE [#HEMA L]

HiE HiE B4 & 8%

(tE=) GIHED) (A=)

A= 2680.3 + 57.0 + 60.6 = 2,797.9 m2
4. EE (HEE) [BAEMAIEAs, t=50mm, 7° 34A1-+] HEEER
HiE HiE
GEED) GIHED)
A= 2680.3 + 57.0 = 2,737.3m2
b, kB (HEZ) [BLEZREAs, t=50mm. 7° 34L1-+] BFRAHERR
B 8%
GEE)
A=  60.6 = 60. 6 m2




SEEE () 5 =1 = s
A E mog | owed | T WEEE [ Z AR i
'8 = = K ¥ & * A

NO.43  +3.07 (2. 56) < E R 5t

16.93 .69 45,

NO. 44 2.8

18.07 94 53,

NO.44  +18.07 (3.06)

1.93 06 5.

NO. 45 3.06

20.00 06 61
NO. 46 3.06

20.00 06 61
NO. 47 3.06

20.00 06 61
NO. 48 3.06

20.00 06 61
NO. 49 3.06

20.00 06 61
NO. 50 3.06

20.00 06 61
NO. 51 3.06

20.00 06 61
NO. 52 3.06

5.00 06 15.
NO.52 _ +5.00 3.06 IP. 2

2.54 06 7.

NO.52  +7.54 (3.06)

N E 184. 47 556.




SEEH (LR i g 2 o
A E mog | owed | T WEEE [ Z AR & %
g 5 x E |®E R | %
NO.52  +18. 68 (3.06)
132 3.06 40
NO.53 3.06
20,00 3.06 61.2
No. 54 3.06
20,00 3.06 61.2
NO. 55 3.06
20,00 3.06 61.2
NO. 56 3.06
20,00 3.06 61.2
No.57 3.06
20,00 3.06 61.2
NO. 58 3.06
14. 66 3.06 4.9
NO.58  +14. 66 (3.06)
N F 115. 98 354.9
a8 & 910.9




HEmEE (BAD B =1 - 1/2
A E mog | owed | T WEEE [ Z AR i
'8 = = K ¥ & * A

NO.43  +6.84 (2. 61) < E R 5t

13.16 71 35.7

NO. 44 2.8

18.07 94 53. 1

NO.44  +18.07 (3.06)

1.93 06 5.9
NO. 45 3.06
20.00 06 61.2

NO. 46 3.06
20.00 06 61.2

NO. 47 3.06
20.00 06 61.2

NO. 48 3.06
20.00 06 61.2

NO. 49 3.06
20.00 06 61.2

NO. 50 3.06
20.00 06 61.2

NO. 51 3.06
7.66 06 23.4

NO.51 _ +7.66 (3.06)

N E 160. 82 485.3




HEmEE (BAD B =1 = 2/2
A E mog | owed | T WEEE [ Z AR & %
'8 = = K ¥ & * A

NO.52  +2.53 (3.06)

2.47 06 7.6

NO.52 _ +5.00 3.06 IP. 2

5. 00 06 45.9

NO. 53 3.06

20.00 06 61.2
NO. 54 3.06

20.00 06 61.2
NO. 55 3.06

20.00 06 61.2
NO. 56 3.06

20.00 06 61.2
NO. 57 3.06

20.00 06 61.2
NO. 58 3.06

11.87 06 36.3

NO.58  +11.87 (3.06)

N E 129. 34 395.8
& F 290.16 881. 1




3
il
I

HAOE (1) 1/1
X L it =1 = # =| ¥ =
4
No.43 +3.08 | No.52 +7.55 [A= 5.40 x 2.59 X 1 =[ 14.0 m2
No.52 +18.68] No.58 +14.66({A= 5.40 x 3.06 X 3 =[ 49.6 m2
A
No.52 +2.53 | No.58 +11.87{A= 5.40 x 3.06 X 1 =[ 16.5m2
& 5 =| 80.1m2




3
il
I

HABER(2)

1/1
X [ &t L = B EE =
py
No.43 +3.08 | No.52 +7.55 [A= 7.20 x 3.06 x 1 =| 22.0m2
A
No.43 +6.83 | No.51 +7.66 [A= 7.20 x 3.06 x 1 =| 22.0m2
s 2 =| 44.0m2




3
il
I

HABER(3)

1/1
X [ &t L = B EE =
py
No.43 +3.08 | No.52 +7.55 [A= 9.20 x 3.06 x 1 =| 28.2m2
A
No.43 +6.83 | No.51 +7.66 [A= 9.20 x 3.06 x 2 =| 56.3 m2
& 3 =| 84.5m2




EE m | Al F & 1/3
A=5. 36m2
- HADED H L%
NO. 41 NO. 42 NO. 4’3 NO. 44
NO. 45
A=5. 36m2
B - m2
= il = it 5 K mE (m) E
NO. 43+2.0 {1 Z {2 5. 36
NO.43+5.0  fhaA{ 5.36
N 10. 72




$IE A m fE oAl F X 2/3
A=8. 03m2
A=7.61m2
= 7 ..
NO..50 NO:51 NO 52 P2 NO. 53 NO. 54
P 7
A=7.61m2 - A=7.61m2
AL m2
= pil =R it 5 K @i (m) HEES
NO. 52+9.0 i =l 8.03
NO.52+17.0 |fFiaZ& {8 1. 61
NO.51+9.0 Al 1. 61
NO.52+1.0 A1l 1. 61
N 30. 86




B A m B Al B *x 3/3
A=7.72m2
NO. 57 NO. 58 NO. 59 NO. 60
A=7. 79m2
B - m2
B il = i B R mfE (m) Az
NO. 58+16.0 |{srizZ= 4 1.72
NO. 58+13.0 |{sHizf 4l 7.79
INF 15. 51
= 57.1




EHEHR ; g s
A E mog | owed | T WEEE [ Z AR & %
g 5 k2 E |®m % £ | ¥ %
NO.43  +5 98 (9.08)
14.02 080 127
No. 44 9 08
20,00 830 176
NO.45 8 58
20,00 580 il
NO. 46 8 58
20,00 580 il
No.47 858
20,00 580 il
NO. 48 858
20,00 580 il
NO.49 858
20,00 580 il
NO. 50 858
20,00 580 il
NO.51 858
20,00 580 il
No.52 858
5.00 580 2
NO.52  +5 00 858 1p2
15.00 580 128
No.53 858
20,00 580 il
No. 54 858
20,00 580 il
NO. 55 8.58
N F 234.02 2019.

op




i 2/2
HI = BB BiEE T OEEEE a—FH—% m =
& 5 kR |[# % E | F B K o
NO. 55 8 58
20.00 8. 580 171.6
NO. 56 8 58
20.00 8. 580 171.6
NO. 57 8 58
20.00 8. 580 171.6
NO. 58 8 58
16. 97 8. 580 145. 6
NO.58  +16.97 (8.58)
N E 76.97 660. 4
& i 311.0 2680. 3




* =8 =f =
RIsERRAE T wE N F 11
X it =1 = B O OE|E =
Al
No.43 +4.09 | No.58 +13.66|A= 309.5 x 0.30 =| 92.9 m2
18
No.43 +7.88 | No.58 +10.87|A= 302.9 x 0.30 =| 90.9 m2
=) B =|183.8 m2




* =8 =f =
Hu 582 2B A E 11
=3 s it g = # = |1 =
)
No.52 +11.20| No.52 +15.20|A= 28.094 —| 28 9m
i
No.51 +11.16| No.51 +19.09|A= 31.72 —| 31.7m
& 3 —| 60.6m2




m fE Al F =

1/2

BB
A=18. 64m2
NO. 50 NO; 51 NO 52 P2 NO. 53 NO. 54
A=32. 37m2
BT - m2
&S A R B - mE (m) S
NO. 52+13.0 |{HimZ {8l 18. 64
NO.51+15.0 |{HirG 1A 32.317
N F 51. 01




TR T

%

2/2

A=1.82m2

i
i

J

/
/
// i
, /]
] /]
1/ /] (4.20)

NO. 57 NO, 58 NO 5 NO. 60
| jf%%‘ E%%iAm&MWVA& ,,,,,,,,,,,,,,, A
A=4. 16m2 EE
AL m2
pil =R it 5 K @i (m) HEES
NO.58+17.0 |fFiaZ {8 1.82
NO.58+15.0 |fFiaAE 1| 4.16
N 5.98
a8 § 57.0




# = i e 1
I & = |
) |BET aaay)  |[BET
1. $EEER Iy [HEEERIAE (180/240x300x 600) ] —i%
@E)
L= 514.6 —  514.6m
) BEESRY 0 [SEESRTAN] BiHE
@E)
L= 12.0 =  12.0m
3. SEEIER) My [HHEEERIAR] mKRER
GRZ)
L= 3.6 = 36m
4 BEEERT Oy [SEBBERTBE (223/240 x 70/100 X 600) ] AL
GAZ)
L= 57.0 57.0m
. HEEERI Oy [HEEEFRTCE (226/240x70x600) ] #HIALL - eSS EER
GAZ)
L= 22.8 22.8m
6. HEIERT Oy [HSEHERTAR (150 x 150 X 600) ] —AEE
GRAZ)
L= 537.8 537.8 m
7 WAERY 1) [MAERTBE (150 x 150x600) ] AL
GAZ)
L= 69.0 69.0 m




B E 1R TAE (180/240 x 300 x 600) o B 11
X M &t " = #H O EWm =
= (BT 8D) (IR ER) (BE)
No.43 +4.09 | No.52 +7.55 [L 183. 4 3.6 0.6 18.2 161.0m
(BATED)  (BRKER) (BE)
No.52 +18.68] No.58 +13.53(L 114.8 3.6 1.2 12. 6 97.4m
A (1 8D) (IH D) (BE)
No.43 +7.88 | No.51 +7.66 [L 159.7 3.6 0.6 22.0 133.5m
GBEHER)  (BRKRED) (BE)
No.52 +2.53 [ No.58 +11.87|L= 129.3 1.2 1.2 4.2 122.7m
& i 514.6m




SEERRTAR Z{AHER %8 # F 1/1
X M &t " #H O EWm =
A (i{a) (H A EBH)
No.43 +4.09 | No.52 +7.55 [L 0. 60 2 3 3.6m
({a) (H A EBH)
No.52 +18.68] No.58 +13.53(L 0. 60 2 3 3.6m
A (T (H AR %)
No.43 +7.88 | No.51 +7.66 [L 0. 60 2 3 3.6m
(e (1 A EBH)
No.52 +2.53 [ No.58 +11.87|L 0. 60 2 1 1.2 m
& 5 12.0m




SHEEERTAR IHKER B HAE 1/1
X M &t " = #H O EWm =
Z 1 (BIARRED
No.43 +4.09 | No.52 +7.55 [L 0. 60 1 0.6m
(BIARRED
No.52 +18.68] No.58 +13.53(L 0. 60 2 1.2m
A1l (BIARRED
No.43 +7.88 | No.51 +7.66 [L 0. 60 1 0.6m
(EIARRHD
No.52 +2.53 [ No.58 +11.87|L 0. 60 2 1.2 m
& 5 3.6m




M 2 &

g5 2

SEEE R TAR (180/240 x 300 x 600) [—#% &R, #B{+ER. iFEKER) 10. Om24 v
210 290
180 65 mEsEEsmfRIovy
(C 180/240 x 300 x 600)
SUpU—+k
o'cok:=18N/mm2)
§ - i v @
b 1 8
¢ w IE 8
10
| BEUVARSA
N J (40 ~Omm)
EJLZIL(1:3)
XI0MIZ T EFROEES T HbERE,
Xiomis D =2~3EKIRE TO v o £ BRE.
# g ARtk " = M =
RC-40
HEER £=100mm A= 0.10 x 10.0 1.00 m2
avyl)—Fk o ck=18N/mm2 |V= (0.10x0. 20-(0. 045+0. 035) /2% 0.10
— 0.045x0.01) x10.0 0.16 m3
e A= 0.20 x 10.0 2.00 m2
W [ L0 e 5
7" Ay4C 180/240 x 300 x 600[L=  (N=165+-100x 10.0=16. 5{&) 10.0m




# = A £

SEEEHR TBE (223/240 % 70/100 % 600) 11
X it =1 = B EW =
Z 1
No.43 +4.09 [ No.52 +7.55|L= 4.20 X 1 + 6.00 x 1
+ 8.00 x 1 =| 18.2m
No.52 +18.68| No.58 +13.53|L= 4.20 X 3 =| 12.6m
A1l
No.43 +7.88 ] No.51 +7.66 [L= 6.00 x 1 + 8.00 x 200 =| 22.0m
No.52 +2.53 | No.58 +11.87{L= 4.20 x 1 =] 4.2m
‘S E =| 57.0m




W B % ¥ OB
SEEE R TBE (223/240 x 70/100 x 600) 10.0m% v
210 290
223 65 HESEEEREATOVY
193 30 (C 223/240 % 70/100 x 600)
oo )—F
o ck=18N/mm2)
4 m v HEE
| 2 RS 8
\‘ ‘J 1&)&
\ ; BAYARE
Y, (40~ Omm)
E)LZIILA:3)
£ b Rk ~Tix B =1 =® # =
RC-40
HERA £=100mm A= 0.10 x 10.0 1. 00 m2
avyl)—+k ock=18N/mm2 [V= (0.10x0. 20-(0. 045+0. 035) /2% 0. 10
— 0.045x0.01) x10.0 0.16 m3
iy A= 0.20 x 10.0 2.00 m2
W [ L0 e S
FEAT NDyIC  |223/240x70/100x600|L=  (N=165+100x10.0=16. 5{&) 10.0m




353 E R T CR (226/240 x 70 X 600) i 1/1
X M & " =X B EWm =
=z (IAED)
No.43 +4.09 | No.52 +11.18 5.48 5.5m
(A HD)
No.52 +15.18| No.58 +14.66 535 4+ 1.13 6.5m
A (BIAED)
No.43 +7.88 | No.51 +11.16 5.35 5.4m
(578D
No.51 +19.03| No.58 +15.37 5.35 5.4m
s oz 22.8m




W OB W OB
SEBEERTCE (226/240 x 70 x 600) 10.0mZ Y
500
210 290
226 62 SEESRFEIOYY
(C 226/240 x 70 x 600)
2.0f v WEE
240
aVvol)—Fk
500 (o ck=18N/mm2)
£ b Rk ~Tix B =® # =
avyl)—k ock=18N/mm2 [V= ((0.156+0.151)/2x0.21+0.171x0. 29
— (0.240+0.226) /2x0.07) x10.0 0.66 m3
B A= (0.156 + 0.171) x 10.0 3.27 m2
HEEER
ER7 0950 226/240 x 70 x 600|L= (N=165-=-100x 10. 0=16. 5{&) 10.0m




3
il
I

Hh SR R TAZY (150 x 150 % 600) 1/1

X el &t " = #H O EWm =
= (BE)
No.43 +4.09 | No.52 +11.18|L= 187.0 — 21.8 =[165.2m
(BE)
No.52 +15.18] No.58 +17.12(L= 121.9 — 16.2 =[105.7m
A (BE)
No.43 +7.88 | No.51 +11.16{L= 163.2 — 25.6 =[137.6m
(BE)
No.51 +19.03| No.58 +13.80[L= 134.7 — 5.4 =[129.3m

op
[
|

B =1537.8m




W OB M B OB
o B TAEY (150 x 150 % 600) 10.0m% v
50 150
EER IOy s
(150 x 150 x 600)
3 .
o Lo EJILAZILA:3)
= BAEULARSG
- (40~ Omm)
200
£ b Rk ~Tix B =1 =® # =
RC-40
HERA £=100mm A= 0.20 x 10.0 = 2.00 m2

SR 0y) | 150x150x 600 [L= (N=165--100%10.0=16.5&)

= 10.0m




3
il
I

#h 555 5 TBEY (150 x 150 % 600) 1/1

X it =1 = B EW =
Z 1
No.43 +4.09 [ No.52 +11.18|L= 5.40 X 1 + 7.20 x 1
+ 9.20 x 1 =| 21.8m
No.52 +15.18| No.58 +17.12|L= 5.40 X 3 =| 16.2m
A1l
No.43 +7.88 | No.51 +11.16{L= 7.20 x 1 + 9.20 x 2.00 =| 25.6m
No.51 +19.03] No.58 +13.80[L= 5.40 x 1 =| b54m
‘S E =| 69.0m




M OB OH OB
Hse iR TBEY (150 x 150 x 150 x 600) 10.0m¥ Y
50 150
ESER IOy Sy
(150 x 150 x 600)
3 .
o Lo EIILZILA:Y)
o S avsy—r
N C. .« - . (ock=18N/mm2)
S %ﬁ %%z BAYARE
A (40~ Omm)
200
£ b Rk ~Tix B =1 =® # =
RC-40
HERA £=100mm A= 0.20 x 10.0 2.00 m2
avyl)—+k o ck=18N/mm2 |V 0.20 x 0.20 x 10.0 0.40 m3
iy A 0.20 x 2 x 10.0 4.00 m2
HFIERT Ov) 150 x 150 x 600 |L (N=165=-100%10.0=16. 5{&) 10.0m




B 8 & & 1/1
I & = |
gy |FERT a3 |FERT
1. AMARER [E#. 5. W=15cm]
GRZ)
L= 67.8 67.8m
). REREES [t 5. B, W=450m]
@)
L= 1.5 1.5m




* =8 =f =
=8, BE. =150 2 E A B 1/1
X i Hi g = M =| 5 =
LB
No.51 +11.44] No.52 +11.82|L= 34.72 =| 34.7m
No.51 +15.44] No.52 +14.82|L= 33.11 = 33.1m
‘S E = 67.8m




3
il
I

+J35. B, W=45cm

1/1
X fil

m B

t 5 =

onl

&:.
feim

HEEIER

No.51 +13.17] No.51 +15.17|L=_1.50 =| 1.5m

op
[




% 2 R & 11
T A | R
vy [EEBEERERT nag  [EEEST

| ERAEYRE [LEMERE MEE mERED) ]

60. 0 {&




ERgeE MEER mmERET)

1/1
X & 1 E2 O OERE =
=l
No.43 +3.09 [ No.52 +7.55 [N 19.0 19.0 &
No.52 +18. 68| No.58 +13.66(N 12.0 12.0 {&
afl
No.43 +6.88 [ No.51 +7.66 [N 15.0 15.0 {&
No.52 +2.53 [ No.58 +10.86(N 14.0 14.0 &
& & 60. 0 &




= R £ 1/1
T % |ooom TR
Iy [EEEEE ) iy |BEEEE
1. TEEHABRE
N= 1.0 e
Al Y O LEHRE 1.0 = 10 ik




